Montazni navod

(Montéazny navod, Fitting instruction, Montageanleitumg,

Instruzioni di montaggio, Monteringshandledning,
Asennusohje, Instruction de montage,
Montegehandleiding, WHcTpyKuua no yctaHoBKe)

":

®
ol

Tazne zarizeni
MAN TGE Bez nastupniho schiudku 02/2017->

Tazné zariadenie
Towbars
Trekhaak

Anhangerkupplung de
Dispositif d'attelage
Equipo de remolque

Sprzet holowniczy

Hinauslaitteet
BykcupHoe obopynoBaHue

vyrobce / dodavatel

SVC Group s.r.o.

[=] 3

Odkaz na produkt:
https://www.svcgroup.cz/tazne-zarizeni-sro
uby-pevny-skoda-rapid-monte-carlo-10-20
12-2018-p7283-v960

WWW.SVCgroup.cz




TYP VTZ004-454

Prdmyslovd zona 179

| SVCGROUP, S.r.0. 54701 Nichod

Ceska Republika
WWW.SVCgroup.cz

VW CRAFTER I

e i i MAN TGkt

Z 03/2017 -> - Bez nastupniho schiidku v zadnim narazniku

;
_AHAWD/AWD _/EWD
P P Py ey o o PPy Sy B g P ey

AN

SVC GROUP ©-4014

e-mail: scv(@scvgroup.cz Tel:+420 491421021 +420 491421022 mob.: +420 603360607




VOLKSWAGEN 203/2017 o\

CRAFTER il-bez schudku

VoS fim2) @ VTZ004-454

M12x120.G10,9 4ks

M12x120 G10,9 4ks

s | A -w;—@%
M12x40 G10,9 2ks

M12x120 G10.9|  8ks
A X1
M12x40 G109 |  4ks
B X2 @12 12ks
C X2 = @12 2ks
= M12 8ks
I 150 5 03500  ApSoi153

SVC GROUP ©-4014

Priimyslova zéna - 179 www.svegroup.cz ~ Tel:+420 49142102]
SVC GROUP s.1.0. " 547 01 Nachod.GR +420 491421022

e-mail: sve@svecgroup.cz mobh.: +420 603350607



e VOLKSWAGEN ™
0 (RAFTER 1 hezschichy 23 03/2017->

% VTZ 004-454 27

= 150
Z 11/2017->

v

BRZDENI - BRAKE - GEBREMS

XN N |
— Ciasse 5010 N2

CPives 1\t [Traler B

Homologace - registraéni certifikdt

723\ E27-55R-01-
@ E27-55R-01-0375

faYa)
EHC R-55 .
ES 94/20 o kféj
iy

@ Informace k provozu / homologaci

@ Informdcie na prevadzku / homologdciu

@ Operating / homologation information
@ Betriebs- / Zulassungsinformationen
@ Uzemeltetési / homologacids informaciok
@ Informations d'exploitation / homologation

Inf ioni sull' ione / logazi
Pevnost 8,8 10,9 12'9 @ = 5 ° n orma'2|0n| SU. o.pera2|0ne omologazione
M6 97 143 161 /W5, @ Monteringsanvisningar

M8 15 359 40 k%]\) @ Instrucciones de montaje
M10 484 710 80 TR

@ Montage-instructie

M2 840 130 1440 S .
Asennusohjeet
M4 - 130 1960 2290 < @) Asennusohjee

M16 1370 307,0 3590
@ Informacje dotyczace pracy / homologadiji

0 e o  —— |
@ @% @ Nm @ Nudopmavus o pabote /omonoraLum

SVC GROUP ©-4014

@ Drifts- / homologasjonsinformasjon

SVC GROUP s.r.0. Primyslova zéna - 179 WW W.SVCgroup.cz TeI.:ijgg 2313%18%12

547 01 Nachod-CR  e-mail: sve@svegroup.cz nob.. +420 603360607




VOLKSWAGEN
CRAFTER 1l-bez schudku

> 03/2017 ->

o a—y AV ——| ",

VTZ 004-454

Potfebné nastroje
Potrebny natroje

Tools Required
Bendtigte Werkzeuge
Sziikséges szerzdmok
Outils requis
Strumenti necessari
Benodigd gereedschap
Herramientas requeridas
Tarvittavart tydkalut
Nodvandiga verktyg
Nedvendige verktay
Potrzebne narzedzia

06000600000600000

HeobxoavMble MHCTpYMeHTBI

x
i
g

<
E
g
s

I 20

P

@ Spatné @ Sprévné @ Pozor @ Prohlédnout
@ Zle @ Spavné @ Pozor @ Prezriet
g Incorrect g Correct g Attention g Inspect
Falsch Richtig Achtung Uberpriifen
@ Helytelen @ Helyes @ Figyelem @ Vizsgdlja meg
@ Incorrect @ Correct @ Attention @ Examiner
0 Shagliato G Giusto 0 Attenzione o Esaminare
@ Fout @ Goed @ Letop @ Controleren
@ Incorrecto @ Correcto @ Atencion @ Revise
@ Vadrd @ Oikea @ Huomio @ Tutki
@ Fel @ Ratt @ Vaming @ Kontrollera
@ Feil @ Riktig @ Pass pa @ Undersok
@ Nieprawidtowo @ rravidlowo @ Uwaga @ Nalety sprawzic
@ Henpasurbho @ nNpasursho @ Brumanne @ "poseprre

@ Rune © Chrénitproti korozi @ Naobouch stranich @  Elekurické piipojen
@ Rucne @ Chrénit proti kordzii @ Na oboch strandch @ Elektrické pripojenie
@ Manually @ Protect it against corrosion @ In both sides @ Electrical connection
@ Mitmanueller Kraft @ Gegen Korrosion schiitzen @ Auf beiden Seiten @ Elektroanschluss
@ Alamain @ Védje korrézid ellen @ Mindkét.oldalon @ Elektromos csatlakozas
@ Conforzamanuale @ Protéger contre la corrosion @ Tousles deux cotés @ Connexion dlectrque
o Mer de hand 0 Proteggere dalla corrosione G Su entrambi i lati o Collegamento elettrico
@ A mano @ Beschermen gegen corrosie @ Aan beide kanten @ Elektrische aansluiting
® Kadenvoimalla @ Proteger contrala corrosion @ Enamboslados ®  Conexion eléctrica
@ Manuellt @ Suojaruostumisesta @ Molempisivu @ sinalitints
€ Brukbare handkraft @ Skyddamotkorrosion @) Pi badasidoma @) CEekwiskanslutning
@ «ezierovel @ Beskyttmotkormosjon @ Pabeggesider @ Hlekrisk kontakt
@ Reanie @ hronicprzed korozia @ zobustron @ Podiaczenie do pradu
@ Bpyunylo @ 3al4mwaTb 0T KOpPO3UK @ Ha o6ewx cropoax @ Enextpueckoe coemHenme
SVC GROUP ©-4014

o +420 491421022
e-mail: sve@svegroup.cz mob.: +420 603360607

Prumyslova zéna - 179 . . Tel+420 491421021
SVC GROUP s.ro. ¥ www.svegroup.cz T

547 01 Nachod-CR




Homologace - registraéni certifikat
* * * E27-55R-01 x.01
* *

«EU* SVCGROUP s.r.0. EHK 55/ e-94/20 i

LR

Montézni instrukce - Montazny intrukcia - Installation insrtuktion - Montageanleitung - Istruzioni di montaggio - Instrukcja montazu - Manual de montaje Monteringsvejledning - Paigaldusjuhe nd -
Asennusohje - Notice de montage - Sz. szerelési itmuutaté - Montagehandleiding - Monteringsanvisning - Insructioni de montaj -Teringsanvisningar - WHCTpyKuuu no MoHTaxy

Classe A50-X '1

Volny prostor dle piilohy VII, smémicec. EC 55-R EU musi byt dodrZen. @
Volny priestor podfa prilohy VII, smérnice¢. EC 55-R EU musi byt dodrzany.

The clerarance specied in appendix VI, diagram 25 ofguideline EC r-55 EU must be guaranteed.

Der Freiraum nach Anhang VII, Abbildung 25 der Richtlinie EC R-55 EU ist zu gewdhrleisten.
Az EC55-REU irényelv VII. mellékletében, a 25. dbrén a vonégdmb elhelyezése szdmara elirt szabad tér-adatokat bizitositani ke

Lazone de dégagement doitément aannexe VI illustration 25 de la directive EC 55-R EU.

Volfy prostor
dle EUR-55.01

Volny prostor
dle EU R-55,01

Deve essere garantito lo spazio libero secondo lallegato VI, gura 25 della direttiva EC’55-R EU.

0600060000600600

De tussenruimte conform supplement VI, afbeelding 25 van de richtlijn EC 55-R moet in acht worden genomen. A

Debe garantizarse el espacio libre, conforme al anexo VI, gura 25 de la directiva comunitaria EC 55-R EU.

Vapaa tila on taattava direktiivin EC 55-R EU liitteen VI, kuvan 25 mukaisesti. ; : P

Spelrummet enligt bilaga VII, Figur 25 i riktlinje EC 55-R EU skall garanteras. ? 51 }\: < { 2ol

o DR e Lo,

Friromment etter tillegg VII, gur 25 i direktiv EC 55-R EU skal overholdes. S £/dnnhic

Nalezy zapewnic szczelnos¢ zgodnie z rysunkiemnr 25 dyrektywy EC 55-R zawartej w zataczniku nr VI, L\\ n

Wapuk il EC55-Reu. o\ Kb

apuka B npunoxeuu VII. Jupektusbl eu =
@ &= 50mm @
@ Pfi celkové pfipustné hmotnosti vozidla @ Pri celkovej pfipustnej hmotnosti vozidla @ At laden weight ofthe vehicle : ~a &> 49mm [N

[ al

@ Bei zuldssigem Gesamtgewicht des Fahrzeuges @ Rakomannyal terhelt jarmsily eseltén @ Pour poids total en charge autorisé du véhicule
0 Per un peso complessivo ammesso del veicolo @ Bij toelaatbaar totaal gewicht van het voertuig @ Con peso total autorizado del vehiculo @ Ajoneuvon suurimmalla sallitulla kokonaispainola
@ Vid fordonets tillltna totlvikt @ Ved kjoretoyets tillatte totalvekt @ W przypadku najwikszej dozwolonej masy cakowitej @ B cnyuae HarpyxeHHoro aBTomo6uns

= [>0

Pokud jsou v technickém prikazu vozidla uvedené nizsi hodnoty nez zvefejnéné k dokumentaci vyrobku . Jsou tyto hodnoty vyrobce vozu smérodatné pro zapsani do technického prikazu vozidla.

Pokial'st v technickom preukaze vozidla uvedenej nizsie hodnoty nez zverejnené k dokumentdcii vyrobku. S tieto hodnoty vyrobcu vozidla smerodajné pre zapisanie do technického preukazu vozidla.

H) 5 e\?N \gertt\hcllﬁéss scerticate of roadworthiness indicates lower values than those published in the product documentation. These values by the vehicle manufacturer are decisive for the entering into the vehicle's certificate of

Falls im KFZ-Brief des Fahrzeugs niedrigere, als in der Dokumentation des Produkts verdXentlichte Werte angefiihrt sind, sind diese Werte des Fahrzeugherstellers fiir den Eintrag in den KFZ-Brief des Fahrzeugs maRgebend.

Amennyiben a forgalmi engedélybe jegyzett adatok a gépjarm(i dokumentdciéban feltiintetetett adatoktol alacsonyabb értékiiek lennének, gy a gépjrm(i gyartdja altal megadott és a forgalmi engedélybe pontosan bejegyzendé
adatokat kell iranyadoként mindsiteni.

Si,sur la carte grise du véhicule, vous trouvez desvaleurs inférieures a celles publiées dans-a documentation du produit, les valeurs du fabricant du véhicule sont déterminantes et devront étre inscrites sur la carte grise du véhicule:

Se nella carta di circolazione del veicolo sono riportati valori inferiori a quelli indicatinella documentazione del prodotto. Questivalori del produttore del veicolo sono decisivi perla registrazione nella carta di circolazione del veicolo.
e(l)se }r%uilat kentekenbewijs van het voertuig lagere waarden vermeld staan dan gepubliceerd in de productdocumentatie, dan zijn deze waarden van de fabrikant van het voertuig bindend voor inschrijving in het kentekenbewijs van het
Sien la cha técnica del vehiculo se indican valores menores que los publicados en la documentacién del producto, estos valores facilitados por el fabricante del vehiculo son decisivos para la inscripcion en la ficha técnica del vehiculo.
Jos ajoneuvon rekisteriotteessa on esitetty alempia arvoja kuin tuotteen dokumentaatiossa esitetyt, ovat ndma ajoneuvon valmistajan antamat arvot ratkaisevia ajoneuvon rekisteriotteeseen merkitsemista varten.

0Om det i fordonets registreringsbevis nns angivna légre vérden dn de som dr angivna i produktens dokumentation, &r dessa vérden fran fordonets tillverkare riktgivande for det som antecknas i fordonets registreringsbevis.

Dersom det i kjoretayets vognkort er oppgitt lavere verdier enn de som er oXentliggjort som produktdokumentasjon, er disse angivelsene fra kjgretaysprodusenten retningsgivende for a noteres ned i kjsretoyets vognkort.

Jezeli w dowodzie rejestracyjnym pojazdu sa podane wartosci nizsze od tych, ktdre znajdujq sie w dokumentacji wyrobu, to te dane producenta samochodu s miarodajne do wpisania‘ich do dowodu rejestracyjnego pojazdu.

000060000600600

Ef)gﬂggaa(nome TPAHCMOPTHOrO CPEACTBA YKa3aHbl 6onee HU3KVe 3HaueHua, Yem YKa3aHHbIe B JOKYMEHTALW Ha U3/NINE, 3TV 3HAYEHNA NPOU3BOANTENA ABNAKTCA ONPEAENANLLMMIA ANA 3aMICK B NACNOPT TPAHCMOPTHOTO

SVC GROUP ©-4014

] . ) +420 491421022
547 01 Nachod-CR  e-mail: sve@svegroup.cz o +420 603360607

Pramyslova zéna - 179 ) , Tel:+420 491421021
SVC GROUP s.r.0. ', WWW.SVCGroup.cz




EHCR-55
ES 94/20

@ Informace k provozu / homologaci

Vyrobek je schvélen dle homologaci EU94/20 EHK-55 R pro prodej ve statech EU. Pozorné si nastudujte montazni ndvod a véechna doporuceni, déle dodrzujte pripadnd
nafizeni pro provoz jednotlivych statd EU. Vseobecné montazni, homologacni, provozni pokyny vztahujici se k montazi, registracia zaruce vyrobku, naleznete na nasem
webu www.svcgroup.cz

Pro rychlejsi pfistup k témto informacim si naskenujte, pfilozeny QR kéd.

Souéasti dodavky tazného zatizeni je dodan TYPOVY LIST. Tento typovy list slouZi pro zapsani vyrobku do technického prikazu vozidla, druha strana dokumentu obsahuje
zékladni informace a pokyny.

@ Informacie na prevadzku / homelogdciu

Vyrobok je schvéleny podlia homologécii EU 94/20 EHK-55 R pre predaj v $tatoch EU. Pozorne si nagtudujte montazny nédvod a vietky odporucania, dalej dodrzujte
pripadné nariadenia pre prevadzku jednotlivych $tatov EU. Véeobecné montazne, homologaéné, prevadzkové pokyny vztahujlce sa na montaz, registraciu a zaruku
vyrobku, njdete na nadom webe www.svcgroup.cz.

Pre rychlejsi pristup k tymto informdcidm si naskenuijte pri

re $i pristu informdcidm si naskenuijte priloZen 6d.
Sucastou dodavky tazného zariadenia je dodany TYPOVY LIST. Tento typovy list sluzi na zapisanie vyrobku do technického preukazu vozidla, druha strana dokumentu
obsahuje zékladné informacie a pokyny.

@ Operating / homologation information

The product is approved according to EU 94/20 EHK-55 R homologations for the sale in EU countries. Please read the installation instructions and all the
recommendations carefully and follow the applicable regulations for the operation in individual EU states. General assembly, homologation, operating instructions
related to registration and product warranty are available at our website - www.svcgroup.cz

For icker his information scan th h R

Each delivery of the tow bar includes TYPE CERTIFICATE. This type certicate is for registering the product in the vehicle's certicate of roadworthiness, the other side
of the document brings basic information and instructions.

@ Betriebs /Zulassungsinformationen

Das Produkt ist gemal der Homologation EU 94/20 EHK-55 R fiir den Verkauf in den EU-Ldndern zugelassen. Lesen Sie sorgfaltig die Montageanleitung und alle
Empfehlungen durch, halten Sie ferner etwaige Betriebsverordnungen einzelner EU-Lander ein. Etwaige Montage-, Zulassungs- und Betriebsanweisungen hinsichtlich
der Montage, Anmeldung und Garantie des Produkts nden Sie auf unserer Website www.svcgroup.cz

Eiir schnelleren Zugri auf diese Informationen scannen Sie den anliegenden QR-Code ein.

Lieferungsbestandteil der Zugeinrichtung ist das mitgelieferte TYPENBLATT. Dieses Typenblatt dient zum Eintragen des Produkts in den Fahrzeugbrief des Fahrzeugs,
die andere Seite des Dokuments enthalt Basisinformationen und Anweisungen.

@ Uzemeltetési / homologaciés informéciok

A jelen termék az Eurépai Parlament és Tanacs 94/20/EK és az Eurdpai Gazdaségi Bizottsédg 55 R szamu rendelet szerinti homolégia besorolasok alapjan lett az EU
kdzosségi orszagokban térténd értékesitések szamara engedélyezve. Figyelmesen olvassa el a beszerelési itmutatdt és valamennyi javaslatot, illetve az egyes EU
kozdsségi orszagok hatélyos vonatkozé kozlekedésrendészeti el6irasait. A beszerelésre, homolodgia besorolasra, regisztralasra és a garancianyujtasra vonatkozo altalanos
szerelési és izemeltetési utasitdsok a tarsasagunk honlapjan www.svecgroup.cz tekintheték meg.

A gyorsabb hozzdférés érdekében szkennelje be.a mellékelt QR kodot.

A vondszerkezet széllitmany részét képezi a TIPUSLAP is. A csatolt tipuslap az adott termék a gépjarm forgalmi engedélyébe valé bejegyzéséhez van rendeltetve,

ésa hétlaﬁ'én ﬁedic.; az alaﬁinforméciék és utasitasok vannak feltlintetetve.

@ Informations d'exploitation / homologation

En vertu de I'homologation UE 94/20 ECC-55 R, ce produit a été homologué pour pouvoir étre vendu dans les états de I'Union européenne. Nous vous recommandons
de lire attentivement la notice de montage et toutes les autres recommandations. Il convient également de respecter les éventuels réglements relatifs a I'utilisation
qui sont en vigueur dans les diérents états de I'Union européenne. Les consignes générales de montage, les consignes relatives a 'homologation, les consignes
d’emploi se rapportant au montage, a l'enregistrement et a la garantie qui couvre le produit sont disponibles sur notre site Internet www.svcgroup.cz.

Pour pouvoir accéder plus rapidement a ces informations, nous vous recommandons de scanner le code QR ci-joint.

Le dispositif d'attelage est fourni accompagné d'une FICHE PRODUIT qui vous servira lors de I'enregistrement du produit dans lacarte grise du véhicule. Au verso de ce
document, vous trouverez des informations et des consignes importantes.

Informazioni sull'operazione / omologazione

Il prodotto e approvato secondo le omologazioni dell'UE 94/20 EHK-55 R per essere commercializzato nei paesi dell’'UE. Leggere attentamente le istruzioni di montaggio
e tutte le raccomandazioni. Rispettare anche eventuali prescrizioni per I'uso dei singoli paesi dell'UE. Tutte le istruzioni di montaggio, omologazione e esercizio relative
al montaggio, registrazione e garanzia del prodotto sono da trovare nel nostro sito www.svcgroup.cz

Per un-accesso migliore a queste informazioni scannare il codice QR allegato.

Una parte della fornitura del dispositivo di traino & la SCHEDA TIPO. Questa scheda tipo serve a registrare il prodotto nella carta dicircolazione del veicolo; alla seconda
pagina del documento sono riportate informazioni base e istruzioni.

SVC GROUP ©-4014

! . b +420 491421022
*** 547 01 Nachod-CR e-mail: sve@svegroup.cz . +420 603360607

Pramyslova zéna - 179 | : Tel..+420 491421021
SVC GROUP s. y www.svcgroup.cz Te




(DY EHCR-55
S5V £594/20

@ Monteringsanvisningar E-3

Het productis goedgekeurd volgens de Europese norm 94/20/EG en UNECE 55R voor verkoop binnen.de EU. Gelieve nauwkeurig de montagehandleiding en
anbevelingen door te nemen en eventuele verordeningen voor het:gebruik van afzonderlijke EU-landen in acht te nemen. De algemene montage-, goedkeurings-en
gebruiksinstructies met betrekking tot de montage, registratie en garantie van het product vindt u op onze website www.svcgroup.cz

n voor een sneller n ze informati R-
Bij de trekhaak wordt een datablad meegeleverd. Dit datablad dient voor de inschrijving van het product in het kentekenbewijs van de auto; de tweede pagina van het
document bevat basisinformatie en instructies.

@ Instrucciones de montaje

El producto fue aprobado segtin las homologaciones de la directiva 94/20/CE del Parlamento Europeo y del Consejo -Reglamento 55, relativo a la venta en los paises
dela UE. Lea con atencion el manual de montaje y todas las recomendaciones, respete tambiéniinstrucciones del Coédigo de Traco de los diferentes paises de la UE,

si procede. Las instrucciones generales de montaje, homologacién y funcionamiento que se reeren al montaje, registro y garantia del producto se encuentran en
nuestro web www.svcgroup.cz

Para acceder mds rdpidamente a las informaciones escanee y apligue el cédigo QR.

El suministro del equipo de tiro incluye la FICHA DE TIPO. Esta cha de tipo sirve para la inscripcion del producto en el documento de la Inspeccion Técnica de Vehiculos,

la segunda Eéc.yina del documente contiene informaciones e instrucciones basicas.
@ Montage-instructie

Tuotteella on EU 94/20 EHK-55 R mukainen tyyppihyvéaksynta EU-maissa myyntia varten. Tutustu-huolellisesti asennusohjeeseenja kaikkiin suosituksiin, noudata myos
eri EU-maiden mahdollisia maakohtaisia kayttoa koskevia asetuksia. Tuotteen asennusta, rekisterdintia ja takuuta koskevat yleiset asennus-, hyvaksynta- ja kdyttoohjeet
|16yddt web-sivuiltamme www.svcgroup.cz

Nopeampaa ndihin tietoihin pddsyd varten skannaa oheinen QR-koodi.

Vetolaitteen mukana toimitetaan TYYPPIHYVAKSYNTATODISTUS. Tuote voidaan merkitd ajoneuvon rekisteriotteeseen taman tyyppihyviksyntitodistuksen mukaisesti,
dokumentin toisella sivulla on perustietoja ja ohjeita.

@ Asennusohjeet

Produkten ar godkand enligt homologiseringen EU 94/20 EHK-55 R for forsaljning inom staterna i EU, Las noggrant igenom monteringsanvisningarna och alla
rekommendationer, folj dven enskilda EU-staters eventuella bestimmelser for drift. De allmdnna monterings-, homologiserings- och driftsanvisningarna gallande
produktens montage, registrering och drift hittar du pa var webbsida www.svcgroup.cz

Eér snabbare dtkomst till den informationen skanna den medféljande QR-koden.

En del av draganordningens leverans @ TYPBLADET. Detta typblad tjanar till for inskrivning av produkten i fordonets registreringsbevis, dokumentets andra sida
innehaller grundlaggande information och instruktioner.

@ Drifts- / homologasjonsinformasjon

Produktet er godkjent i hht. EU-homologering 94/20 EHK-55 R for salg i EU-land. Les ngye gjennom monteringsanvisningen og alt av anbefalinger, og overhold dessuten
evt. retningslinjer som matte gjelde i de enkelte EU-landene. Generell veiledning ang. montering, homologering, samt drift som gjelder produktets montering,
registrering og garanti, nner du pa vart nettsted www.svcgroup.cz

Skann den vedlagte QR-koden for raskere tilgang til denne informasjonen

TYPEBLAD fglger med leveransen av trekkutstyret. Dette typebladet brukes til a registrere produktet i bilens vognkort, mens dokumentets 2. side inneholder grunnlegg
endeinformasjon og veiledning.

@ Informacje dotyczace pracy / homologadji

Wyréb jest zatwierdzony zgodnie z homologacja WE 94/20 EHK-55 R do sprzedazy w krajach WE. Prosimy uwaznie przeczyta¢ instrukcje montazu i wszystkie zalecenia,
a nastepnie przestrzegac¢ ewentualnych rozporzadzen obowiazujacych w zakresie uzytkowania w poszczegoélnych krajach WE. Ogoélne zalecenia i informacje dotyczace
montazu, homologacji, zalecen eksploatacyjnych, rejestracji i gwarancji na wyréb, znajduja sie na naszej stronie internetowej: www.svcgroup.cz

Aby uzyskac szybszy dostep do tych informacii, prosimy zeskanowac zatgczony kod QR.

Czescig dostawy tego urzadzenia sprzegajacego jest zawarta w komplecie KARTA PRODUKTU. Ta karta stuzy do wpisania wyrobu do dowodu rejestracyjnego pojazdu,
a druga strona dokumentu zawiera podstawowe informacje i zalecenia.

@ Wndopmauna o pabote /omonorauum

Ha uspenue BblgaH ceptudumkat kayectsa cornacHo EU 94/20 EHK-55 R ana npopaxu B rocyaapcteax EC. BHUMaTenbHO M3yynTe MHCTPYKLMIO O MOHTaXy 1 BCe
pekomMeHAaaLmny, a Takxke cobniogainTe MOCTAHOBNEHMWSA MO SKCMyaTaUmm oTaeNbHbIX cTpaH EC. O6Lwme yKa3aHua no MOHTaxy, CepTudurKaLmm 1 SKCnyaTaumm,
OTHOCALLMECHA K MOHTaXy, PEFUCTPaLUV U.rapaHTUM Ha U3fenve MOXHO HalTi Ha Hallem caiiTe WWW.svcgroup.cz

[na 6sicmpozo docmyna k 3mou UHghopmayuu omckaHupylime npusiazaemoili QR-KoO0.

B KomnnekT nocTtasku papkona exoant TUMOBOW JINCT. ToT TMROBOW IMCT CAYWUT 1S 3aNMCA-M3[enms B NacnopT TPaHCMOPTHOMO CPeACTBa, BTopasi CTopoHa
[IOKyMeHTa COAePXKIUT OCHOBHYIO MHGOPMALINIO 1 YKa3aHUA.

SVC GROUP ©-4014

SVC GROUP s.r.0, Pimysiovizina 79 www.svegroup.cz -2138 19142163,

547 01 Nachod-CR  e-mail: sve@svegroup.cz 0p. 420 603350607




VOLKSWAGEN 03/2017 >

CRAFTER Il-bez schidku

(c2) Montazni navod

1."“Odmontujte tazné oko z pravého nosniku. Ocistéte pripadné pretoky v mistech uchyceni tazného zarizeni.
Z venkovni strany nosnikd vsurite Srouby M12x120 (10.9) pres pfilozky a z druhé strany nasadte bok tazného zafizeni.
Prichytte maticemi.Nedotahovat.

3. Mezi takto ptipravené boky nasadte hlavni nosnik tazného zatizeni a prichytte 4 Srouby M12x40 (10.9).
Pozici hlavniho nosniku zvolte dle typu vozidla.

4. Tazné zafizeni vyrovnejte a dotahnéte dle utahovacich momentd.

5. Pozici tazného cepu zvolte dle zatizeni a typu vozidla.

(EN) Installation instructions
1. _Remove the towing eye from the right beam. Clean o possible overjows on the places where the tow bar should be a¢xed.
2. Insert M12x120 (10.9.) screws with tting plates from the outer side of the beamsand install the side of the tow bar on the other side.

Fasten with nuts. Tighten only lightly.

3. _-With using of 4 screws M12x40 (10.9) install the main beam of the tow bar between the sides prepared in previous step.
Select the correct position of the main beam according to respective vehicle type.

4. Align all the parts of the tow bar and tighten them to prescribed torques.

5. Select the correct position of the ball hitch according to respective vehicle type.

MHCTPYKIJ,IIIH 3a MoHTaXX DonkceareH

I

1. JlemMoHTuMpanTe KyKaTa 3a TerfieHe OT AACHaTa Hocella KOHCTPYKLMA. MoyncTeTe eBEHTYyanHOTO NPOTUYaHE Ha MACTOTO
Ha pMKCMpaHe Ha TerneLoTo YCTPONCTBO.

2. OT BbHLWHaTa CTpaHa Ha HoCeLMTe KOHCTPYKLMM MbxHeTe BHTOBe M12x120 (10.9) BbpXY NOASOXKKMTE, @ OT Apyrata cTpaHa
CNnoeTe CTpaHMYHaTa YacT Ha TerewoTo ycTponcTeo. GukcmpanTe ¢ ranku. He 3atarante.

3. Mexpay Taka NOAroTBEHNUTE CTPAHUYHM YaCTUN CJIOXKETE FaBHaTa HoCella KOHCTPYKLUMSA Ha TerneLloTo YCTPOCTBO U GpuKcupanTe ¢ 4
BMHTa M12x40 (10.9). /I36epeTe no3uLmaTa Ha IMaBHOTO HOCELLO YCTPOCTBO NOpPes TrMna aBToMobus.

4. W3paBHeTe TerNeLLOTO YCTPONCTBO 1 3aTerHeTe Cropes MOMEHTHTE Ha 3aTAraHe.

5. ~M36epeTe no3nuuATa Ha Ternelata yanda cbrnacHO CaMoTO YCTPOMCTBO U TrMa aBTOMOGU.

I

Montageanleitung

1. Die Zug6se vom rechten Trager.demontieren. Etwaige Grate an den Befestigungsstellen der Zugeinrichtung beseitigen.

2. Von der AuBenseite der Trager Schrauben M12x120 (10.9) durch die Anlegeplatten-einschieben und von der anderen Seite
den Seitenteil der Zugeinrichtung aufsetzen. Mit Muttern befestigen. Nicht festziehen.

3. Zwischen die derart vorbereiteten Seitenteile den Haupttrdger der Zugeinrichtung einsetzen und mit 4 Schrauben
M12x40 (10.9) befestigen.

4. Die Zugeinrichtung ausrichten und mit den entsprechenden Momenten anziehen.

5. Die Position des Zugzapfens entsprechend der Belastung und dem Fahrzeugtyp wahlen.

Istruzioni dimontaggio per la

1. Smontare I'occhiello di traino dal supporto destro. Allontanare eventuali sbavature nei luoghi di ssaggio del dispositivo di traino.
2. Dall'esterno dei supporti, per le piastre di giunzione inserire le viti M12x120 (10.9) e dal lato opposto inserire il lato del dispositivo
di traino. Fissare con i dadi.Non serrare a fondo.
3. Trailatipreparati in questo modo inserire il supporto principale del dispositivo di traino ssandolo con 4 viti M12x40 (10.9).
La posizione del supporto principale va scelta secondo il modello del veicolo.
4. ~Allineare il dispositivo di traino e serrare con le coppie diserraggio prescritte.
5. La posizione del perno di traino va scelta secondo il carico e modello del veicolo.

SVC GROUP ©-4014

SVC GROUP S.I.0. Prl"lmyslové zona - 179 WWW.svVCgroup.cz Tel.:ijgg 1811%18%12

547 01 Nachod-CR  e-mail: sve@svegroup.cz oh . +420 603360607




VOLKSWAGEN 03/2017 =

CRAFTER Il-bez schidku

(FR) Notice de montage

1. Démonter I'anneau de remorquage de la traverse de droite. Nettoyer les éventuelles impuretés qui se trouveraient aux endroits
de xation du dispositif d’attelage.

2. Parl'extérieur des traverses, introduire des vis M12x120 (10.9) qui traverseront les rallonges et, par I'autre coté, placer le coté
du dispositif d'attelage. Fixer le tout avec des écrous. Ne pas serrer les écrous.

3. Placer la traverse principale du dispositif d'attelage entre les cotés ayant été ainsi préparés et la xer a I'aide de 4 vis M12x40 (10.9).

La position de la traverse principale doit étre sélectionnée en fonction du type de véhicule.

Alignerle dispositif d’attelage etserrer ensuite toutes les vis et écrous aux couples de serrage prescrits.

5. ~Sélectionner la position def'axe de traction en fonction.de la charge et du type devéhicule.

B

(Es) Manual de montaje

Desmonte el ojal de tiro del soporte derecho. Limpie eventuales reboses en los puntos de jacién del equipo de tiro.

2. Desde el lado exterior de los soportes introduzca los tornillos M12x120 (10.9) a través de las escuadras y desde el otro lado
introduzca el lado del equipo de tiro. Sujete con tuercas. No apretar.

3. Entre los lados preparados asi ponga el soporte principal del equipo de tiro jandolo con 4 tornillos M12x40 (10.9).

Seleccione la posicion del soporte principal segun el tipo del vehiculo.

Enderece y apriete segun los pares.de apriete.

5. Seleccione la posicion del perno de tiro segun la carga y.tipo del vehiculo.

—_

»

@ Asennusohje

—_

Irrota vetosilmukka oikeanpuoleisesta palkista. Puhdista mahdolliset valumajéljet vetolaitteen kiinnityspaikoista.

2. Aseta palkkien ulkopuolelta ruuvit M12x120 (10.9) valikelevyjen kautta ja aseta toiselta puolelta paikalleen vetolaitteen sivuosa.
Kiinnita muttereilla. Al3 kirista.

3. Aseta vetolaitteen paapalkki ndin valmisteltujen sivuosien valiin ja kiinnita se 4 ruuvilla M12x40 (10.9).

Valitse paapalkin sijoitus auton tyypista riippuen.

Suorista vetolaite ja kirista kiristysmomenttien mukaan.

5. <Valitse vetotapin sijoitus auton kuormituksesta ja tyypista riippuen.

»

(Ru) MHCTPYKLVA MO MOHTaXY

CHUMMTe BYKCMPOBOYUHYIO METIO C MpaBoii 6anku. OunctrTe 0b6noi B MecTax KpenneHua papkona.

2. CBHeLWHel CTOPOHbI 6anok BcTassTe 60Tl M12x120 (10.9) ¢ MCcnonb30BaHMEM HaKTAAOoK, a C APYroi CTOPOHbI BCTaBbTe 60K dapkona.
3akpenuTe rarikamu. He 3atarusante.

3. Mexpgy noAroToBneHHbIMM GOKaMU BCTaBbTe MMaBHYo 6anky Gpapkona v 3akpenuTte 4 6ontamv M12x40 (10.9).Mo3muuto rnaBHoN 6anku

Bbl6VpaliTe B 3aB1CMMOCTI OT TUMa aBTOMOOMNA.

BblpoBHANTe GpapKon 1 3aTAHWTE B COOTBETCTBUM C MPefnMCaHHbIMU MOMEHTaMM 3aTHKKU.

5. [Mo3umunto 6yKCMpPOBOYHOI NETV BbIOEpUTE B 3aBUCHMOCTI.OT Harpy3Ku 1 T1Mna aBToMoOus.

—_

>

SVC GROUP ©-4014

SVC GROUP s.r.0. "rimyslovazéna- 179 www.svcgroup.cz = Tel:1420 49142102]

547 01 Nachod-CR  e-mail: sve@svegroup.cz 1 0h.. +420 603360607




% M12x120 x8

@12 x8

SVC GROUP ©-4014

SVC GROUP s.r.0. "rmyslovazona-179 www.svegroup.cz  Tel-1430 4219210}

547 01 Nachod-CR  e-mail: svc@svegroup.cz mob.: +420 603350607




: M12 x8
= AR @
@L\\

M12x40 x4

@12 x4
N mx

& M12 x4

SVC GROUP ©-4014

SVC GROUP S.1.0. gy Vet eiwsvegroup-cz g0 11103,

547 01 Nachod-CR  e-mail: svc@svegroup.cz mon.: +420 603250607




?12 x4
 9mx

® M12 x4

SVC GROUP ©-4014

SVC GROUP s.r.0, rumyslovezona- 179 www.svegroup.cz  Tel-1420 29142102

547 01 Nachod-CR  e-mail: svc@svegroup.cz mob.: +420 603250607




SVC GROUP ;S:1.0,
Dékuje za diivéru / Dakuje za doveru

i Registrace / Registracia
Merci pour votre conance / Grazie per la tua ducia Inscription / Registrazione
Tankewol foar jo fertrouwen / Cnacuo 3a Baiue foBepue Rekisterdinti / Peructpauns
SVC GROUP ©-4014

Pramyslova zéna - 179 Tel+420 491421021
SVGC GROUP s.r.o. y WWW.SVCQroup.cz

547 01 Nachod-CR

+420 491421022
e-mail: sve@svegroup.cz mob.: +420 603350607




Nevite si rady? Potfebujete poradit?

Nas zakaznicky servis
je vam k dispozici

%, +420491 421021

g Svc@svcgroup.cz

Opravdovy specialista a Certifikovany vyrobce taznych zafizeni
s nejvétsim sortimentem v CR. Rodinna firma s vice jak 30letou
ovérenou tradici vyroby, prodeje a montaze.

WWW.SVCgroup.cz



